
* ADDITIONAL APPLICATION IS THE NEW OEM NUMBERS WHICH CAN BE COMMON USED WITH CURRENT CTR PRODUCTS

THE OEM NUMBERS WITH MARK ☆ WERE NOT INCLUDED , AND ADDITIONAL APPLICATION IS HIGHLIGHTED IN BLUE COLOR.

IN LAST VERSIONS OF CTR PARTS CATALOGUES, AND THOSE ARE NEWLY ADDED INTO CTR APPLICATIONS.

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQ0319R CQT-26R 48068-07030 ◈ LOWER R SOLARA ACV20, MCV20, SXV20 99-03 5PCS

48068-06090 AVALON MCX10 95-05

48068-08011 ☆ AVALON MCX20 00-04

PRONARD MCX20 00-03

CAMRY ACV36, MCV36 02-06

SIENNA 98-03

CQ0319L CQT-26L 48069-07030 ◈ LOWER L SOLARA ACV20, MCV20, SXV20 99-03 5PCS

48069-06090 AVALON MCX10 95-05

48069-08011 ☆ AVALON MCX20 00-04

PRONARD MCX20 00-03

CAMRY ACV36, MCV36 02-06

SIENNA 98-03

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQ0168R CQKH-104R 54501-2W000 ◈ LOWER R SANTAFE 12- 3PCS

54501-2W200 MAXCRUZ 13-

54501-4Z600

54501-2W600

54501-4Z000 ☆

CQ0168L CQKH-104L 54500-2W000 ◈ LOWER L SANTAFE 12- 3PCS

54500-2W200 MAXCRUZ 13-

54500-4Z600

54500-2W600

54500-4Z000 ☆

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CL0547 CLT-6 20470-AN01A ☆ REAR OUTBACK 20 36PCS

M10X1.25 (50/2PCS)

SUBARU

NEW INTERCHANGES

CONTROL ARM

TOYOTA

HYUNDAI

STABILIZER LINK



'* INFORMATION WAS CHANGED AS FOLLOWS , CORRECTION IS HIGHLIGHTED IN RED COLOR.

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CR0619 CRT-43 45503-19185 R/L STARLET EP8#, EP9# 89-98 20PCS

M12X1.25 TERCEL EL50 94-99

M12X1.25 PASEO 91-99

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CR0475 CRN-40 48521-7Y000 ◈ R/L ALTIMA L31 02-06 20PCS

48521-8J000 M16X1.0 MAXIMA A34 04-08

M14XP1.5

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CR0103 CRG-14 1603543 ◈ R/L ALFA ROMEO MITO 955 08- 20PCS

1609456 M14XP1.5 FIAT GRANDE PUNTO 199 05-

M14XP1.5 FIAT GRANDE PUNTO VAN 199 08-

FIAT PUNTO EVO 199 09-

FIAT PUNTO IV 199 12-

OPEL CORSA D 06-

OPEL CORSA D VAN 06-

VAUXHALL CORSA C L_8 06-

VAUXHALL CORSA C CAN 06-

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CR0648 CRT-76 45503-19185 R/L STARLET EP8#, EP9# 89-98 20PCS

(CR0619) (CRT-43) M12X1.25 TERCEL EL50 94-99

M12X1.25 PASEO 91-99

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CR0415 CRMZ-36 48521-7Y000 ◈ R/L ALTIMA L31 02-06 20PCS

(CR0475) (CRN-40) 48521-8J000 M16X1.0 MAXIMA A34 04-08

M14XP1.5

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CR0077 CRF-34 1603543 ◈ R/L ALFA ROMEO MITO 955 08- 20PCS

(CR0103) (CRG-14) 1609456 M14XP1.5 FIAT GRANDE PUNTO 199 05-

M14XP1.5 FIAT GRANDE PUNTO VAN 199 08-

FIAT PUNTO EVO 199 09-

FIAT PUNTO IV 199 12-

OPEL CORSA D 06-

OPEL CORSA D VAN 06-

VAUXHALL CORSA C L_8 06-

VAUXHALL CORSA C CAN 06-

GENERAL MOTORS

GENERAL MOTORS

RACK END

TOYOTA

 CORRECTION INFORMATION

RACK END

TOYOTA

NISSAN

NISSAN



NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV0155 CVKH-124 21910-1G200 ◈ BRACKET VERNA MC 05-10 16

21910-1G000 ASS'Y - ROLL PRIDE JB 05-11

21910-1G250 STOPPER FRT

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV0201 CVKD-46 94599034 ◈ FRT STRUT TICO 91-01 60

96518121 MOUNT MATIZ I (SPARK) M100 98-05

41712-82000

GV0219 CVKD-65 96312156 STRUT MOUNTNUBIRA J100 97-99 16

A - FRT NUBIRA II J150 99-03

GV0286 CVKD-80 90250348 FRT ENGINE MOUNTLANOS T100 97-02 16

LEMANS 86-97

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV0262 CVHO-31 50841-SR3-984 ENGINE CIVIC COUPE EJ7 96-99 16

MOUNT, RH CIVIC FERIO EK3, EK4, EK5 96-99

CIVIC GX EN1

CR-V T.H. RD1 95-00

CR-X DELSOL EG1, EG2, EJ4 92-

HR-V 3D GH1, GH2

INTEGRA 4D DB6, DB7, DB8, DB9 93-

PARTNER EY8

STEP WGN ALMAS RF1, RF2

STEP WGN F.D. RF1, RF2

GV0263 CVHO-32 50842-ST0-N81 ENGINE CIVIC 3D EK4 96-99 20

MOUNT, LH CIVIC FERIO EK4 96-99

CR-V T.H. RD1 95-00

INTEGRA 3D DC2 93-

INTEGRA 4D DB8 93-

ORTHIA EL1, EL2, EL3

S-MX RH1, RH2

STEP WGN ALMAS RF1, RF2

STEP WGN F.D. RF1, RF2

GV0264 CVHO-33 51920-S6M-014 ◈ SHOCK CR-V RD4, RD5 01- 16

51920-S6M-J02 ABSORBER EDIX BE1, BE2, BE3, BE4, BE8

51920-S5A-024 ELEMENT YH2 03-11

51920-S7A-024 INTEGRA 3D DC5

CIVIC SEDAN 01

CIVIC COUPE 01-02

CIVIC HATCHBACK 02-05

ACURA RSX S MODEL 02-04

GV0265 CVHO-34 51925-S6M-014 ◈ SHOCK CR-V RD4, RD5 01- 16

51925-S6M-J02 ABSORBER EDIX BE1, BE2, BE3, BE4, BE8

51925-S5A-024 ELEMENT YH2 03-11

51925-S7A-024 INTEGRA 3D DC5

CIVIC SEDAN 01

CIVIC COUPE 01-02

CIVIC HATCHBACK 02-05

ACURA RSX S MODEL 02-04

HONDA

GM DAEWOO

HYUNDAI

BUSHING



NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GA0058 CMKD-14 94599034 ◈ FRT STRUT TICO 91-01 28PCS

(GV0201) (CVKD-46) 96518121 MOUNT MATIZ I (SPARK) M100 98-05

41712-82000

GA0056 CMKD-13 96312156 STRUT MOUNTNUBIRA J100 97-99 12PCS

(GV0219) (CVKD-65) A - FRT NUBIRA II J150 99-03

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GA0057R CMHO-1R 51920-S6M-014 ◈ SHOCK CR-V RD4, RD5 01- 12PCS

(GV0264) (CVHO-33) 51920-S6M-J02 ABSORBER EDIX BE1, BE2, BE3, BE4, BE8

51920-S5A-024 ELEMENT YH2 03-11

51920-S7A-024 INTEGRA 3D DC5

CIVIC SEDAN 01

CIVIC COUPE 01-02

CIVIC HATCHBACK 02-05

ACURA RSX S MODEL 02-04

GA0057L CMHO-1L 51925-S6M-014 ◈ SHOCK CR-V RD4, RD5 01- 12PCS

(GV0265) (CVHO-34) 51925-S6M-J02 ABSORBER EDIX BE1, BE2, BE3, BE4, BE8

51925-S5A-024 ELEMENT YH2 03-11

51925-S7A-024 INTEGRA 3D DC5

CIVIC SEDAN 01

CIVIC COUPE 01-02

CIVIC HATCHBACK 02-05

ACURA RSX S MODEL 02-04

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GZ0053 CZKH-19 21910-1G200 ◈ BRACKET VERNA MC 05-10 6PCS

(GV0155) (CVKH-124) 21910-1G000 ASS'Y - ROLL PRIDE JB 05-11

21910-1G250 STOPPER FRT

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CZ0002 CZKD-2 90250348 ENGINE LANOS T100 97-02 12PCS

(GV0286) (CVKD-80) MOUNT LEMANS 86-97

(MANUAL)

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GZ0052R CZHO-1R 50841-SR3-984 ENGINE CIVIC COUPE EJ7 96-99 6PCS

(GV0262) (CVHO-31) MOUNT, RH CIVIC FERIO EK3, EK4, EK5 96-99

CIVIC GX EN1

CR-V T.H. RD1 95-00

CR-X DELSOL EG1, EG2, EJ4 92-

HR-V 3D GH1, GH2

INTEGRA 4D DB6, DB7, DB8, DB9 93-

PARTNER EY8

STEP WGN ALMAS RF1, RF2

STEP WGN F.D. RF1, RF2

GZ0052L CZHO-1L 50842-ST0-N81 ENGINE CIVIC 3D EK4 96-99 6PCS

(GV0263) (CVHO-32) MOUNT, LH CIVIC FERIO EK4 96-99

CR-V T.H. RD1 95-00

INTEGRA 3D DC2 93-

INTEGRA 4D DB8 93-

ORTHIA EL1, EL2, EL3

S-MX RH1, RH2

STEP WGN ALMAS RF1, RF2

STEP WGN F.D. RF1, RF2

HONDA

GM KOREA

TOP STRU MOUNTING

GM KOREA

HONDA

ENGINE MOUNTING

HYUNDAI



1PCS 2CPS 1PCS 2CPS

1 CBKS-6 CB0241 40 40 30 30

2 CBT-63 CB0406 40 40 30 30

3 CEKK-12 CE0057 50 70 50 50

4 CEF-37L CE0077L 36 50 36 40

5 CEF-37R CE0077R 36 50 36 40

6 CEKH-35R CE0327R 30 34 25 30

7 CEKK-27L CE0365L 30 34 25 30

8 CEKK-27R CE0365R 30 34 25 30

9 CEKS-10L CE0382L 12 24 12 18

10 CEKS-10R CE0382R 12 24 12 18

11 CEM-62 CE0433 20 40 20 30

12 CEN-72 CE0589 36 40 30 30

13 CEN-73 CE0590 36 40 30 30

14 CET-115L CE0731L 30 34 25 30

15 CET-115R CE0731R 30 34 25 30

16 CET-116L CE0732L 36 40 30 30

17 CET-116R CE0732R 36 40 30 30

18 CEG-60 CE0932 20 36 20 24

19 CEKH-71 CE0934 36 50

20 CEG-61L CE0936L 14

21 CEG-61R CE0936R 14

22 CESS-10L CE0938L 20 34

23 CESS-10R CE0938R 20 34

24 CIT-5 CI0007 25 25 20 20

25 CLCR-5L CL0019L 20 12 6 12

26 CLCR-5R CL0019R 20 12 6 12

27 CLG-68 CL0134 6 12

28 CLHO-39 CL0172 25 50 36 50

29 CLKK-23L CL0339L 30 50 36 50

30 CLKK-23R CL0339R 30 50 36 50

31 CLHO-107L CL0732L 10 20

32 CLHO-107R CL0732R 10 20

33 CLHO-108L CL0733L 10 12

34 CLHO-108R CL0733R 10 12

35 CLHO-109L CL0734L 10 20

36 CLHO-109R CL0734R 10 20

37 CRKH-50 CR0292 32 32 25 25

38 CRN-38 CR0473 32 32 25 25

39 CRN-39 CR0474 36 36 25 25

No
Old

CTR No

New

CTR No

MOQ

BEFORE AFTER



1PCS 2CPS 1PCS 2CPS

No
Old

CTR No

New

CTR No

MOQ

BEFORE AFTER

40 CRT-127 CR0696 32 32 20 20

41 CRT-134 CR0703 32 32 25 25

42 CRMZ-74 CR0813 20 20

43 CRT-143 CR0817 20 20

44 CRN-90 CR0818 32 32

45 CRG-57 CR0819 20 20

46 CRG-58 CR0820 20 20

47 CRG-59 CR0821 20 20

48 CZKD-2 CZ0002 16 12

49 CVKH-124 GV0155 16 6

50 CVKD-46 GV0201 60 28

51 CVKD-65 GV0219 16 12

52 CVHO-31 GV0262 16 6

53 CVHO-32 GV0263 20 6

54 CVHO-33 GV0264 16 12

55 CVHO-34 GV0265 16 12



'* DISCONTINUED PARTS ARE NOT AVAILABLE ANYMORE.

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CR0619 CRT-43 45503-19185 R/L STARLET EP8#, EP9# 89-98 20PCS

M12X1.25 TERCEL EL50 94-99

M12X1.25 PASEO 91-99

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CR0475 CRN-40 48521-7Y000 ◈ R/L ALTIMA L31 02-06 20PCS

48521-8J000 M16X1.0 MAXIMA A34 04-08

M14XP1.5

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CR0103 CRG-14 1603543 ◈ R/L ALFA ROMEO MITO 955 08- 20PCS

1609456 M14XP1.5 FIAT GRANDE PUNTO 199 05-

M14XP1.5 FIAT GRANDE PUNTO VAN 199 08-

FIAT PUNTO EVO 199 09-

FIAT PUNTO IV 199 12-

OPEL CORSA D 06-

OPEL CORSA D VAN 06-

VAUXHALL CORSA C L_8 06-

VAUXHALL CORSA C CAN 06-

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CR0353 CRKK-53 KH430-3224XA MALE RHT ENTERPRISE 97-02 20PCS

M14XP1.5

M14XP1.5

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV0155 CVKH-124 21910-1G200 ◈ BRACKET VERNA MC 05-10 16

21910-1G000 ASS'Y - ROLL PRIDE JB 05-11

21910-1G250 STOPPER FRT

NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV0201 CVKD-46 94599034 ◈ FRT STRUT TICO 91-01 60

96518121 MOUNT MATIZ I (SPARK) M100 98-05

41712-82000

GV0219 CVKD-65 96312156 STRUT MOUNTNUBIRA J100 97-99 16

A - FRT NUBIRA II J150 99-03

GV0286 CVKD-80 90250348 FRT ENGINE MOUNTLANOS T100 97-02 16

LEMANS 86-97

BUSHING

GM DAEWOO

 DISCONTINUED ITEMS

RACK END

TOYOTA

NISSAN

GENERAL MOTORS

KIA

HYUNDAI



NEW CTR NO OLD CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

GV0262 CVHO-31 50841-SR3-984 ENGINE CIVIC COUPE EJ7 96-99 16

MOUNT, RH CIVIC FERIO EK3, EK4, EK5 96-99

CIVIC GX EN1

CR-V T.H. RD1 95-00

CR-X DELSOL EG1, EG2, EJ4 92-

HR-V 3D GH1, GH2

INTEGRA 4D DB6, DB7, DB8, DB9 93-

PARTNER EY8

STEP WGN ALMAS RF1, RF2

STEP WGN F.D. RF1, RF2

GV0263 CVHO-32 50842-ST0-N81 ENGINE CIVIC 3D EK4 96-99 20

MOUNT, LH CIVIC FERIO EK4 96-99

CR-V T.H. RD1 95-00

INTEGRA 3D DC2 93-

INTEGRA 4D DB8 93-

ORTHIA EL1, EL2, EL3

S-MX RH1, RH2

STEP WGN ALMAS RF1, RF2

STEP WGN F.D. RF1, RF2

GV0264 CVHO-33 51920-S6M-014 ◈ SHOCK CR-V RD4, RD5 01- 16

51920-S6M-J02 ABSORBER EDIX BE1, BE2, BE3, BE4, BE8

51920-S5A-024 ELEMENT YH2 03-11

51920-S7A-024 INTEGRA 3D DC5

CIVIC SEDAN 01

CIVIC COUPE 01-02

CIVIC HATCHBACK 02-05

ACURA RSX S MODEL 02-04

GV0265 CVHO-34 51925-S6M-014 ◈ SHOCK CR-V RD4, RD5 01- 16

51925-S6M-J02 ABSORBER EDIX BE1, BE2, BE3, BE4, BE8

51925-S5A-024 ELEMENT YH2 03-11

51925-S7A-024 INTEGRA 3D DC5

CIVIC SEDAN 01

CIVIC COUPE 01-02

CIVIC HATCHBACK 02-05

ACURA RSX S MODEL 02-04

HONDA

BUSHING


